Honors Geometry Name: KD}-_.f

Practice Worksheet
Section 5.1-5.2

£ill in the blanks with the appropriate term.

1. The m)(i@ﬁam i 'I' joins the midpoints of two sides of a triangle.

YW
2. The midsegment is Do hf to the third side of the triangle and is
I

J\ ) -'w{ .gi the length.
l

3. A point is {0 Ll \l '[.';n,l YA "’ from two objects if it is the same distance from the objects.
]
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4. The distance from a point to a line is measured by the length of the ff L

segment from the point to the line.

5. If a point is on the DI L bisector of a segment, then it is equidistant from
| ]

the endpoints of the segment.

6. If a point is on the bisector of an O g/?ﬁ cizpezughs, then the point is

4

equidistant from the sides of the angle.

Identify three pairs of parallel segments in the diagram.

L. 4B|| 2. 2. BC|| 2. 3. AC| 2. A
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Points J, K, and L are the midpoints of the sides of AXYZ.
7. Find LK. 8. Find YK X
: : 757
9. Find JK. 10. Find XK / ©
D (1) Z
11. Find JL. 12. Find YL
: . W
13. Find KL 14. Find ZL \
S
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D is the midpoint of E E is the midpoint of &

15. If m£A =70, find m£BDE.
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17. If DE =23, find AC.
(tHo

Find the value of x.
19.

22.
2x +1 18
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U+ 2= 1%

L= 1o ~x:§)

Determine whether 4 must be on the bisector of ZLMN. Explain.
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16. If m£BED =73, find mZ£C.
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18. If AC = 83, find DE.
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Use the figure at the right to answer the following q_llgstions.

27. According to the diagram, what are the lengths of PQ and PS?
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28. How ispm ﬁérela;e;;; £SPQ? S — 20f P -
W
e 10
29. Find the value of n.
Hn-30=%n _— ' '
M= 30 r.,ﬁ@ >R

30. Find m~ZSPR and mZQPR.
meSPR= 6(10)-20 mMLaPR= 2{10)
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Find the indicated variables and measures.

31. x, msDEF 32. x, mlQTS
D R
{(5x + 20)°
g Q s
G 9x°
{ X 7 (Gx - 300
Lyr20=0%  mLDEF= 5(5)+ 3049 (5) %y = 6430
Ly - 3 - (1) AAe30 LW 3(19) +6(19) -%

D (= 15) - @)

33. r UW 34. mp
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